ooo (1) (oo)
000000
000000
20080 110 200
9:00-10:30

00  lim w—2DDDDD

(z,y)—(0,0) T2 4 y?
00000 10000000000000

(1) z =log /a2 + y? (2) z= Tan—Y

X
00 2=2y00000000000000
00O

00 z = f(z,y) 000000000 2 =

fe@noo000 Z 22 00000
g dt' dt?

(05|00 F = 25042, 00000 2 = 2ut3v,
y=u—2000000000

00 F = (22)2+ (2,)2 000000 o =

rcos@, y=rsinf@ 00000000

00 f(z,y) = e**2¥ 0O00O0OO0OOO
(h,k) OO0 2000000000000000
0000000000000000

00 ze Y=ysine 0000000 y =

f(x)0 1000000000

00 2*+2y?=200 (1,1) 000000

gooooodgon

00 224+ 32zy —2yz+x2z+ 22 =150
000000 z=f(z,y) 0 100000000ODO
Oooono

0O w2—|—3my—2yz—|—a:z—|—z2:11D
0 (2,1,—-1) 0000000000000 0O00O0

00 f(zyy) =a® +y*+ 32y +2000
00000000



ooooo

http://amath.doshisha.ac.jp/ "kon/lectures/2008.calculus-II/
Oo0000000OOo0oOoooOooooooooooo
OOobOdpDo20080 120 1800000000000



